
 �������ITU-R P.1812 

1

 ��������ITU-R P.1812  

 ����� ��� 	
�� ��
���� ���� 	��������	���� �� 	��� ��   

 	���!� ��"#!� ��$��� %(VHF)  	���&'���(� ��"#!�)(UHF)  

) ������ITU-R 203/3(  
(2007) 

��	
��� ��
  

� ��	
� �
 �	�� �� ���� ����� ���
� ������� ��
� ���!" �#$%��� &'* +,� �� -..!��� /��� MHz 30 �
 
GHz 3 01%�� �� �
#2� ��%3� ���� 45� 6789�:��� 6��;<� ���%��� =>,?�� @##���� =AB �� %p /��� �CD 

%50 ≥ p ≥ %1 EF1�%�� �� �
#2� ��%3� ���� �9 EpL /��� �CD E%99 ≥ pL ≥ %1 . H5,?� H5#IJ ���!	�� &'* K���9
 !LM�� NIO K%������ P���Q�� R��S� .  

 T� �U�V�� 4�%"B W9�!�� �#D�B ����. K�X��� Y�� ��%�.�!�� �Z�,�Z�  �CM�B � ����
��� ���!	�� &'* ���
�9
km 0,25  %[9km 3 000 �� \!�� ]�?��� NIO T^�!	�� 5_ `%_ F� EH�^��� km 3���� a%^  . ���!	�� &'* @b5� Z9

 �����Z� ����
�%A ��%�.�� ����. NIO cd�Q^ 9B ��Bc��B.  
 �#$%��� e�#$%��� &'* @C��9 �'*ITU-R P.1546.  

 `
 ��%�.�!�� �Z�,�Z� �#2f.�J5�E�Z�,�5� g9���   
�������� � 	
� �
  

 B (   `B � ��h� ��%�.�!�� �Z�,�Z� ����� i#	X�� T?jIk�� T��
L�� �
 ��.�;�
 l��� -�9!Q�� ����1�	� 
 ��!��� ��A%��(VHF)9 �����#��!�C (UHF)m  

\(  `B NIO 9B ..!��� ��%
1 P?� NIO =C2� Y�� ��	n� T� =,?� �#�. �#^�!oA �^��� ���J `�kp �#q�� �� 
� ��%
1� Vr �5������ -.�?�� 6�9�:��%���� �����Z� d�!A �� -V?�%�9!���E�I�%" �^��� NIO   

���� �
�  

 B (   �#$%��� `BITU-R P.258 sI2�� �C#^ ��	
� �
 �	�� �� V��� � 4���<� 6���t ��
��� `��� ��.�;�
 K��� 
 �� ��..!��� /�� � `�V	I� �I�
��� ���u��125 MHz �
 30 GHz �
 =,� Y�� ��^����9 1 800 kmm  

\(   �#$%��� `BITU-R P.452?�� @##���� `��� ��.�;�
 K��� ��	n� T� ��!o,�� �5����I� =>,������  v	� NIO 
 ��..!� �
O �����O ��w� 0,7 GHzmH���!��   

x(   �#$%��� `BITU-R P.617 �
 ���
��� �	�� �
 �	�� �� V��� � 4���<� 6���t ��
��� `��� ��.�;�
 K��� 
��..!��� /�p sI2�� �C#^ s^�� yO ��%�.�!�� �5z!�� �CM�B -'�� �O ��w� 30 MHz �� ��^���� /�� �
 ���
���9 E

100 �
 km 1 000m  

.(   �#$%��� `BITU-R P.1411 ��%�.�!�� �Z�,�Z� ����t sI2�� �C#^ �����Z�� ��
��� `��� ��.�;�
 K���  x���
{���� V,��� /��� ��| ) �z �
km 1(m  
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 *(   �#$%��� `BITU-R P.530�� ��.�;�
 K��� C#^ �	�� �
 �	�� �� V��� � 4���<� 6���t ��
��� `� sI2�� �
m�#D��� !,��� i� �CM���  

9(   �#$%��� `BITU-R P.1546 ��
��� `��� ��.�;�
 K��� ��1�	� � 4�}� 6�; @#��  ��!��� ��A%��(VHF) 
9�����#��!�C (UHF)#�I� �#b�,z
 =#��J �
 49�� K���� � .�
��Z�� E�#��!:��� ����  

����  

1   s~I�� � .��%�� d�!A<� 4�C2����1 &'� sI2�� �C#^ ��	
� �
 �	�� �� 6��;<� ���%��� =�,?�� @##���� =AB �� 
����u�.  

  
  

*+!�, -1 

1  �����  

 =AB �� s~I�� �'* � �^%$%�� �����Z�� ��
��� ���!" K��X���� N$%�� ���%��� =>,?�� @##���� 4�C2��5� ����
�� 6��;<
t sI2�� �C#^ ��	
� �
 �	�� �� ���� ���� ���1�	� ��!��� ��A%�� (VHF)9 ����!�C#��� (UHF) . ���!	�� &'* ��
��9

 6��;<� /%��p)�b��!Lk�� 4�}� 6�; -B ( 01%�� �� �
#2� ��%3� ���� 45� 789�:���%p /��� �CD �	�%�� �
�� 
%50 ≥ p ≥ %1 EF1�%�� �� �
#2� ��%3� ���� �9 E%pL /��� �CD E%99 ≥ pL ≥ %1 . &'* 4�C2��� �k� � ��9

 6��;
 /%��� d�%� �z NIO �*!�#�9 ���u� ��	
p  ��
�I� ���!	��)�#	o�� (\%r!�)6( ���u� ��	
� � ��D�?�Z��9 E
 ����;<� =2?� �*!�#�9 &'*)=������ (� � 9B 6�
��� P?�6�9�}� 6�
��� .  

6�9���� K�1 NIO T�%�.�!�� T^�!	�� 5_ =��2� ��B �2p -!��
� ���!	�� &'* ������ x|%�9 . @L� Z Ex|%C
�� �%M
� �C^
=������ %* �CL�B9 =�!�� %* T^�!	�� �� -B . �~I	,� =C2���� Ex|%C
�� +$%� H5#L�� �k�"=�!�� "9"=������ "

NIO ��Z�I�g�%��� NIO -%�.�!�� V��� ����9 d�� �
O T^�!	��  .  
 �#����� 4���<� 6���� \��z 45� �� E����� E���!	�� +$%�(dB)  �*79�� @�� Z Y�� 019 45�%p  �
 ���
���

F1�%CI� �	�%�� �C#1 .�%� ���
��� H�#b�,z
 {���� �
 4%����9 F1%�� Vo� 6���� �b�,� .�J �=������ F1 . @�� E'b�2�
 6�z%��� �b��!L_ 4�� 6�;  �
 =�%~��� d�!A�� K�#���(dB(µV/m)) �*��1 ���2^ �2�� 6��1 �
 ���
��� kW 1.  

�?X
� ��_ ��| ��#b�%* =C2��� �CM�B F� 4�C2��Z� =AB �� E�9�� �A����� E6>�2� ���!	�� &'*9 . !>#o��� `B �#�
* 4�C2��� �
O �1��� � !>#o��� `%k�9 E���!	�� =C� �� -V?�%�9!��� �����Z� !,
O � Z
 !��� Z �4�O ��_ ��| ��#b�%

H�?#?" ����
��� � . �CL��_ T#b�%* ���z � �z EH5�C^dBi 40 ����;< �!?�� !������ ��w� Z E�I$%�� �!" NIO  �����Z�
 �O -V?�%�9!���dB 1.  

��� ���!	�� &'* ���
�9 T� �U�V�� 4�%"B W9�!�� �#D�B ����. K�X��� Y�� ��%�.�!�� �Z�,�Z� �CM�B � ����

km 0,25 %[9 km 3 000 �� \!�� ]�?��� NIO T^�!	�� 5_ `%k� `B NIO EH�^��� km 3���� a%^  . &'* @b5� Z9

 ����. NIO �����Z� ����
� ���!	�� ��%�.��%Acd�Q^ 9B ��Bc��B.  
9�!".�� V�p �$�� ���!" �* s~I�� �'* � 6.��%�� �����Z�� ��
��� �� . Y�� ��	
� �
 �	�� �� ����
��� +����9

 �	�� �
 �	�� �� ����
� �� ���2�� �� �I�I� �� ���!	�� &'* =C2���)6.�2�� =����� ���� �
 =�!� �	�� �� -B (
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�#D�!�^� ���� s"�
� yO K�M���� �O7%� .�
�9 �21%��� @#��� `%k� `B `�CQ� �?k� �p H�V�_ ���
�� .�O `%k� `B �o
 EF1�%CI� ���
��� E�	�%��� @#�I� ��%�2� ��!���� �O 6���O �L#IO =,~��� 4�}� 6�; @#1 9B �#����� 4���<� 6���u

�LI�� Y�� �#����� s"�
CI� �I����� !�.��CI�.  
* �IC2��� 6��1 �!�?�� E�#IO9 ���� P���Q�� �I>,?�� �#���S� !*�M�� +#$%� NIO �#$%��� &') a%^ ��O�?��Z� -B

!~��� /%��� i�%�� ( NCM2�� 6!b���� ��V�� .����� NIO �^���� � 4�9�_)�#��.%#S� ��#
~
�� -B ( 6wLA�� T�
 6wLA�� &'* F1�%� �� ���2I� ���
��� E�#^�!	��)=������ ���� (I�X���? . ���!	�� &'� �#IC2�� ���#�	��� @M2� ���
���9

NIO9 ��	
� �
 �	�� �� �#	o��� NIO  P���Q� ]�?��Z �#C1� ����#� 6�O�1 .%A9 ��!�^Z� �'* �Q��� E=������ ����
�
� �#���S� !*�M�� x�!X��� �k� s��� ���.%#A `�#�� ���
��� 4%	��9 �!2�� ��#���z
 �
 �L2A!� ���� P���Q�

�#�� =b��%� �
� ���� . �#$%��� �
 ]%A!�� �o�
� E���� P���Q�� �I>,?�� �#���S� !*�M�� &'* !�#� K�O 4�z �9
ITU-R P.1546����
��� &'* NIO 4%,�� =AB �� �#$%��� &'* �� HZ�� .  

 �b�,� ���J @�� EK��� �� !M
���9$�
O!
 4%����9 F1%�� � !>#o��� 6����  ��#b�,z
 yO �#$%��� &'� {���� �
=������ F1�%� ���
��� ��.�2�� �#C����r%I�� ��2�7%��� . &'* �b�,XI� �b�,z<� ���~��� �#ICO `B �� @r!�� NIO9

 H��!��
� Z `%k� g�f<� x|%C
�� `B �*9 �Ik�� �L
O ��
� �1 ��	
� �
 �	�� �� �����5�)g.��� Vr -B(O �o�
� E NI
 V��� �!" �� -B NIO EB���� �#z �� E��#�	� �k� F1%�� � !>#o��� `B �%M~I� `B �#$%��� &'* �IC2���) �� -B �2p

T^�!	��( �CL#I_ NIO �z 9B E)=������9 =�!�� NIO -B H�2� .(v#~,�� %O�� �� �A%� Z ��B �#�  � Z
 F1%�� � !>#o���
#^ =L:�� Y�� �Z�����!	�� ��'� �IC�n� F1�%CI� �b�,z
 =#�� KwI�9 �>#2� ��!	� s#1��� F1%�� �L . �9�z v>A!� Z9

/wo� -| %[ NIO =�!�� F1%� NIO  �| �L#^ s�	�� 6���O �Z�z . �'* =C2����9 E�1�� T^�!	�� ��'* �21%� @I�O �|
 ��B
&'* s��	�� 5^ E�	�� �
 �	�� �� \%I��� d�!A<� �C#�� Z
 �#$%��� %50 = pL.  

{���� �
 4%���� 6���u ���
��� ��?� !��� V,�9 .I� ���
��� 4��� �#IO �¡ =#I�� H��#�2� !�_B `%k� !��� `B Vr � !>#o�
H�!?$ P#� 4%���� 6���� v#~,� i�%�� `� H�!M� F1%�� . 6���� �^�D
 TIC2���� NIO �>#2�� E=�!�� �!" �?^

���� =��. =�!�� `�_ �|
 �#����� 4���<� 6���� �
 {���� �
 4%��� .NIO �¢ ��B Vr �%L�
�� `B TIC2����  `B �

 49�S� � 6.��%�� �	�%��� 6���u� @#16 F1%� � =�!�� F�� £ �|
 �I¤IQ� `%k� �1 "i�%��."  

2 ����	
�� �
���� ������ ������� �����  

 '�����!"�����Z�� ��
��� �`����� � �#����� x|%C
�� !$�
O &'*  :  
�  ������ �� 

�   �������)���!�� "#$� %���� &'(�*$� "+ &,-�.� /0��
���� 1�#2$� 3�.� 4�� 5�20 67��(� 

�  �6"!9�:����� ��;���� 

�   ��<����=(�*$� "+ )>?�$� 6"!9�:����� ��<������� @�A����� %�B�C�� D2� ��#A�(� 

�  �&�2E� � F�!���� G#H �I,J� 

�   �I,J�����	K�$�  

�  �#��L��$� M
 4��N�� O. 
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3  ����� ������  

1.3  ������� ����� ������  

 49�S� +,�1�� Y�� F1�%��9 01%�� �� ��%3�� ���
��9 ..!���9 ��%�.�!�� +���	�� �>!2� Y�� �#����� =���� ����#�  KwI�
����� H���
�.  

V�� R��S� !LM�� NIO 4%,~I� `��7Z �C�B sI	
� �� T#���B TI��C_ T�	~CI� 4%	��9 �!2�� �	� x��.
 @�� .
 V��� w_!� d����� �o�
� �C#^ E-%�.�!�� V�CI� �z�,� �z�9 F1%� ��%�.�!�� ��%S� .�$��� ��CI2� NIO 4%,�� ��#2��9

V�� ���
���=�%"  .��#	o� ��	
p ��
��� �
O =�!�� F1%� ��%�.�!�� ��%S� .�$��� ��CI2� NIO 4%,�� ���
�� ��9.  

 49�¦S�1 

������� ��	
� �����
  

������ ���	
�� �
�� ��� ����� ��� ��
�� 

f GHz 0,03 3,0  ������  (GHz) 

p % 1,0 50,0  ��� ��	
�� ��
� ��
��� ��
��� ������ �
�
� ���� ���� ���
��

!�  

pL
 

% 1 99 ��

!� ������ �
�
� ���� ���� ��� ��� "#�
$%� ��
��� ��
���

φt, φrdeg 80−  80+  &�'�
�� (&	��� )�* +, 

ψt, ψrdeg 180,0− 180,0  &�'�
�� (&	��� -
. +,) 01
� =2����3 4��( 

htg, hrgm 1 3 000 � 6�78��)�9� �
�
� 4
� :;�
<� >?� 

2.3  ���� ������� ����� ���!� 

�����Z�� ��
��� ���!" s#�	� =AB �� -%�.�!�� V�CI� ���� P���Q�� R��S� !LM�� KwI� . �5� �� H�#b��� +���� %*9
 @#��� .�O P?� �L
� =k� ��^%?,�n�I� �C_ :  

    di = � !LM�� �	�
� =�!�� �� �^���� �#�!��� ��| R��S(km)                         i  (1a)  
    hi = a%^ ]�?���  �#�!��� ��| R��S� !LM�� �	��i!~��� /%��� a%^      (m)  (1b)  
    gi = hi  + �I#�C��� ��IS� ]�?���  �#�!��� ��| R��S� !LM�� �	�
�i        (m)  (1c)  

�#z:  
    i = 1 E2 E3 ... n  = =#�. R��S� !LM�� �	��  
    n = R��S� !LM�� ���� .�O.  

=�!�� �
O `%k� �9�� R��S� !LM�� �	�� `B ©zZ . E`|
d1 H�!?$ -9��� 9 h1 ������� =�!�� �
O ���� ]�?��� %* 
!~��� /%��� a%^ . R��S� !LM�� �	�� `%k� =����9n=������ �
O  . `%k�  �| NIO9dn�� 4%" �* 9 !��%I#k��� V�hn 

������� !~��� v	� /%��� a%^ =������ �
O ���� ]�?��� %* . !LMCI� ��I:I� �I#�C��� ]�?��Z� ���%I2� !�#�� £ `
9
`�^ EV�CI� R��S�gi  =  hi.  
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�O�?��� 9B ��I:I� H�"��B �#$%��� &'* �ª!2� Z E��IS� ��3^ �� �#��#1 �O%C� .%A9 K�2� H�!M�9���C2��� T2�� � . E@I2I�9
 ��O�?��� `%k� `B �o�
#^ E��I:I� ��O�?��� 0IC2���� �|
"�#I#�� " ��I:I� ��.��� ��O�?��Z� P#�9 Ex|%C
�� �1. �ª�J

�I«�C�� . 49�S� =2�92��IS� ���B `��� H��#?� H�.�;�
 K���  .�� �C#�� ��IS� ]�?��� i�D `�^ E�#$%��� &'* � ��B !?,
��IS� 6���� ���7
 ¬^�k�.  

 49�¦S�2 

���������
� ��������
   

����� ��  ������ �������� ��!"#$� 

(m) 

 ����� %#�&' ()
�
*�+,���  

�@
�7� �'���/��7��/B��� 10   ����C��(54b)  

:@�
D 10   ����C��(54a)  

���E@/��F�G/���3 15   ����C��(54a)  

�7�H? ���E@ 20   ����C��(54a)  

3.3  ����"���� ����#!� �$�#!�  

 49�S� � .!�3��%�.�!�� �#��
�� s"�
�� � ��V��� 4�%"B �#*�� `��� ��7Z ���%I2� +$9 .  

S�¦ 49�3 

�������
� ������� ������  

�-,.�� �� %+!/�� �0+���� 

��%@�	 A1  (���.�I�� J.���� �G ��%@�
�� :D��9� 6�78�� K@ �L�%� ����M� :D��9� NG m 100 
 ���
O ��PQ ���R� (S��� �G �L��� �
�
� +	
�� TU ��
����km 50 (���V �'��� W�#G X� 

 ��
�8 Y �ZU �����'8 �$�# -�$C�	� XR[� \�]����� J%C�8 �'�#�^ 6�78� _�����m 100 

���� ��%,�� A2  �
�� J.���� `3 :D��9� &? ���C�� a.�
I��� ��%@"��%@�
�� :D��9�� "Bc*G 

���V B   S��� X� �`�R�� ��,9� \�@�
��� \���!�� ��L���) �d��# ��;�� :�e8 ��� NGkm 100 (
&#9� f%*( 

�2�� �"��u� �
 d�!A<� �'* �����z �
��� `B 6��� N$%� E����.<� T� �b��
�� � N,1�� a���Z� s#�~�� �#C1!�� �#�
 �Z�,�5� g9��� .�J5�(IDWM) ��%�.�!�� �Z�,�Z� ��k� �� 6!�#��� )BR ( \%���� 9B V�k�� \%���� Y3#��

�,X��� .�|�^ NIO V��� NIO ���
�� F#f 0��_ �^��� �O =�� Z km 50 9B !~��� ��  �� 6V�k�� /!��� ��z����
d��� �3^ Z
 s�	�� Z E���	
 ��� �#I�������y.  
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4.3   %& '��
!� ��(�)&�*�)��  

 ��	
CI� H�!��O V��� `�_ �|
 ��BB �������� ����	
� �
	�� �dct �dcr� �� �������� ����� ����� ����
� �=z��� (km) NIO E
!�­� ��!	�� &���� Eg�%��� . 9B �
#?� !L� NIO ��!	�� `�_ �|
 H�!?$ �^���� &'* `%k�9��!® �,
�.  

5.3  ������� ����"���� ����� "����� ��+,-&  

��
��� d�!A
 �I	��T�CI2� +$%� ��%�.�!�� ��%S� .�$��� �� �#I��1  � Vo��� ��%S� �����k�Z� .  
c  ∆N) ���z9ckm/N ( -'�� %S� �� ¯.�� !��%I#k�� � -%�.�!�� ���k�Z� =#��� �9�?��� 4�2� i�%�� %*

 !^%�����#��� �k� Y�� �L#�
 H�.�
��� V�CI� R��S� !LM�� =#I~�� ���
�� 4�2?�� ���� !	1 +,� \��z 
sb�%2��� x�!2�Z�9 .©z5�9 `B ∆N d�!A<� �'* �  `%k���A%� �#C_.  

c  N0) ���z9cN(NIO �����k�Z� �* /%���  !~��� v	� 9 -V?�%�9!��� �����Z� x|%� � i�^ =C2���
C_-V?�%�9!��� �����Z� ��#�� � Vo�I� °�#�.  

 =#�'��� � .!�1� �#��O ib�!�  @#�∆N9 N0 

  ��?I�9��%�.�!�� �Z�,�Z� ��k� �� 6!�#��� �
C1!�� ib�!u� -%J ����#�.  

6.3   ���*./�!� 012���3���� ��4��5�  

6��;<� ���%��� �L#�
 7w2�� Y�� �A��I� �Ck�� ���~��� @�� -V?�%�9!��� �����Z� �C#� Z E@M�
�� Vr �����Z� =2?� 
 �CI2��� E�A%��β0 (%) E �*9�� �9�� !�� �b��� �9 �Lb�
�B � F1%�� Y�� 01%�� �� ��%3�� ���
���� �Q?X
�� ���	��  

���k�Z� =#��� �9�?��� �Z�2� 79�:�� `B E%S� N 100c6�z9/km .9 ��~�� �C#1β0
 

�C_�I� .  
 �CI2�� ��z�µ1���� V��� �L#^ y2� Y�� �A���� NIO �C�2� Y�� E) =����� �/ 9B=z���� NIO (&�#��9:  

  ( )
2.0

354.0496.05τ6.6–16

–

1 1010µ

⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛

+= τ+⋅−
tm

d

   (2) 

 �C#1 �² �#zµ1 �
������ µ1 ≤ 19 E:  

  ( )41.24–
1012.4e1τ lm

d××−−=  (3) 

 dtm:  !C��� -!� dwA 4%"B)=z���� NIO9 =����� � (�� �� NCM2�� 6!b���� V(km)  
  dlm:   NCM2�� 6!b���� V�� �� �D���� =��. !C��� -!� dwA 4%"B(km).  

9>!2� 49�S� �3 ����
�� s"�
�# ���C2��� �¢ Y�� ��%�.�!��  NIO 4%,~I�dtm9 dlm.  V��� NIO ���
�� F#f 0��_ `�^
 NIO�^��� �O =�� Z km 50 9B !~��� �� ��� ��z����d��� �� 6V�k�� /! �3^ Z
 s�	�� Z E�� ��	
�� �#I�������y 

 `�^ g�����9dtm9  dlm  `��9��� EV��� 4%"d.  
 �CI2�� ��z�µ4 NIO �C�2� Y�� Eµ1��A����� V��� w_!� �!2�� i�9 :  

  
°>ϕµ=µ

°≤ϕµ=µ ϕ+

70for

70for

3.0
14

|)|0176.0935.0(–
14  (4)  

�#z:  
  ϕ:   V��� +,�
� �!O i�)��A�.(.  
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����  β0:  

  
⎪⎩

⎪
⎨
⎧

°>ϕ
°≤ϕ=

+ϕ−

70for%µµ17.4

70for%µµ10
β

41

41

67.1015.0

0  (5)  

7.3  ������ ��	� 
�� 
��  

����	� 
��� 
�� ��� ���� ���������  k50 	��	��	� �	����� �����! "�#$:  

 

N
k

∆−
=
157

157

50  (6) 

�#�� %$� ���&� '()  *+���	� ���� ������ , ��$!�-	���(�.�//�/��
	�  0�∆N �(1	� '� 01�	� 2�3 ��#����!  


4��
! "�#$	 �5##6 "��� 76
� ���	�+.  

 ����	� 
��� 
�� ��9	 ������� �#�-	� ��; <= '()+ae��	��	� �	����� �����! :  

      km 503716 ka
e

⋅=  )7a(  

 ��@A/ �#9�!����	� 
��� 
�� ��� B�� CD+�E F�/ GH	� β0 0aβ 0��	��	� �	����� �����!:  

  aβ = 6 371 · kβ        km  )7b(  

 I��3,0 = kβ ����	 �/
/�-J �#�� 2K ����	� 
��� 
�� ��� B�� CD+�E F�/ GH	� β0.  

8.3  �� 	
��
 
���� ����� ��� ��� ������� ��
�� ����� ���!  

�L%$� ���&�  *�#$��� '� ���! �M�N� F�-	� �-$�����!��&� O�
PQ �/�+
R	�+ "���!  * , B����	�+ �+�S�4 
 �#�� %$� TU� "�#$	 V��S� 
WX#$	 Y+= ��$; �����!ae  '� �W�$� ���&� F�/ Z	� �	�����(7a) . [�-/+��/H�	� 7  '�

 \@$�� �HK4$�$;+ 4]�9!+ "�#$	 V��S� 
WX�� ^�-�_� ��� *���$��.  

 �+�`S�4 

 ��� �� ������� ��������� 
���� ���!"���� #�  

������ ��	
� 

d    ������ ��	�
�� ��
 ����
(km) 

dlt, dlr
 

   ��� ������ ����� ��������� ������ !"	�#$ %� ������(km) 

θt, θr    ��������� ������ 
&' ���� (�)*�� ��+��,(mrad) 

θ    ���-� �+��.�� ������(mrad) 

hts, hrs
 

  	�#�� ./�
 (�)*�� �0�-� 1�#��� 2#���� 3#� !(m) 

htc, hrc
   

 4"�� �56�� 
7�(hts, g1)� (hrs, gn)8�#��� �-'  

hte, hre    9��� 3#� !	�#:-� ���)�� (�)*���(m) 

db    �#;��8�<�� =��� 3#� ���� =�.>� (km) 

ω   =.>=��� 3#� !-?�� ���� : 
ddb /=ω 

 A"Bd !$  ������ ��	�
�� ����
(km) ��#�C� D�
E���� ��F���� (63). 
� ���&����:-
�?� �+H�� I����-:   ω  =0 
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4 ������ ���	
  

1.4  ��
� "���  

������ ��	
�� 
���� ������ ������ ��� ���	
� . ���!�!"� ��!#$� �#�%& '(��)� �*+�,Lb
 

(dB)
�	-, ��/��0 '
1 + 2�� � 
��%	�� �3��45� 67��� 8� �1�	%�� �1�95� %p :� �%50 ;������ : ����� <%= >7��5� 8� 6.4-2.4 ) �@�%& A,

 AB�!����
�� #�C
D+�� #�E
D+�� F��GD+�� #�E
D+�� �H��� I& : #�E
D+� 8J �K�	�� ��!�!"� ��!#$�#�E
D+�� 
 ���5� AB�!����
����4�� L�J M��GD+���N0� ;��	
�� ��� #�E
D+� ;���O >�P��
�� L�J ���!�!"� ��!#$� �#�%Q  .(

 ;������ : ��,10.4-7.4 S� ��&T�� �#�%&� >7�5� : �U�V
�� ;�B-W�� �X��45� ���� ;�B-W� YNZ
� [@��4� ��� \B] �
^��5� . ������ _T�� �1�`	�� :�11.4 �#�%& �aG� *�V�� � ��!�!"� ��!#$� ��b� �Tc S(dB µV/m)  S� ��%	���kW 1 8� 

���G��� �GE5� �#T���.  

2.4   ��#�� $% & '
(��)�)�+,� "��- 	��./��� 0�1 & 
2(  

[]"� dJ ;�B%5�� �H��� I& ;�B%� S� ��%	��� e�1 �� fg '���� eV�	1. 

�Z��� : #�E
D+� 8J �K�	�� ��!�!"� ��!#$� �#�%& \Th)���\�G5�� �i� :  

      dBdfLbfs log20log2044.92 ++=  (8) 

L4G�� h�hH�;�B9�
��� �\TG
5� ;�B%5� ;�B-W�  67��� Y
1�95� Y
�%	�� : p� β0�Y
�\�G5�� �P��
�� L�J :  

        dB⎟
⎠

⎞
⎜
⎝

⎛⋅
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛
−⋅=

+−

50
log16.2 10

p
eE

lrlt dd

sp  )9a(  

        dB⎟
⎠

⎞
⎜
⎝

⎛β⋅
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛
−⋅=

+−
β

50
log16.2 010

lrlt dd

s eE  )9b(  

 <%=���!#$� �#�%& + 2�� ��!�!"� ��/��0 '
1 �1�95� ��%	�� 
�	-, %pI& : #�E
D+� S� \�G� 2��� 67��� 8� �H���  
)+ _, *���G] �H��� I& : B%5� k�g �l� �NJ �m	�� X�H� (2��� 4G�L �����
�� ��\�G5�:  

        dBspbfspb ELL +=0 (10)  
 <%=��2�� ��!�!"� ��!#$� �#�%&+ ��/��0 '
1  �1�95� ��%	�� 
�	-, %β0I& : #�E
D+� S� \�G� 2��� 67��� 8� �H���  

)+ _, *���G] �H��� I& : B%5� k�g �l� �NJ �m	�� X�H� (2��� 4G�L �����
�� ��\�G5�:  
        dBββ += sbfsb ELL 0  (11) 

3.4  �������� 	�
����  

������ 1 �, 8(���  ����
�� 8� �l�&W5� ��1�4�� ��n kITU-R P.452#�H7 ���, 1 ��1�o p�4� q#�� fNG�� kr] s 8�� �
�	U%t .'%��� ��� u1Tv �	J w
	�! �� ��� *����= x�&, F��GD� [@��o �!�#\ A�0 �'�G���.  

____________________ 

1  �������� �	 
��
�� ���� ������ ����� ��� ����� �� ����! "# ��$�	 �� ���%&� ' dB 15. 
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�	� L�J TN
G� ��1�4� F��GD+� �#�%& <%h)�1�\V ;�(Deygout)H7, Thg X��= yzC� L . �*�N@�\ �\���� ��%�@��� �]�i��
 �F��GD+� �N�G5 �N�7 L�J, ;�l {D�|� �`m5� �4�	� X(�G)��ν .
]�i���
1�D�C�� k� f��
%5�� f!�5� {D�� L�J �}\��� 8�~ k

��%�@��� �]�i� 8� .{�1�0 ��hH� >� �\���5� X��h�� Y�%�� T= �@�%& w�T)� s .��1�4�� ��� _T��� �#�%� *��1T�� 
*��J� _, *�T`� B%5� k�g, 
��!� ���=�%�� e��#"� dJ _, d�� _, �h��� dJ 6D�g, 
��! ;�B%5� ���, >�N| F��GD+�.  

 ������ : ���� �W1 �Ng ��G��� �#"� �47 �HD I!�
5 �\�J �zJ, ��1�4�� fNG
%)�1.3.4 . S� ���i� T	J� P�K� ��	�
 ��%	��� S�%50 = pF��GDz� �&� 3�%= S� ���i� e�
	� �.  

 k��1 ��T	J ���G�� ���i� :�50% > Pf��G� ��D�- �U�g 3�%i� 
���� <� �  A��%5� ��G��� �#"� �47 �HD3 �Ng �
 ������ : ���� �W12.3.4 . F��GD+� �#�%� *��1T�� ^�C�� 3�%i� ��� �]�1� + 2��/��0 '
1���	-,  �1�95� ��%	�� 
%β0 8� 

67��� L�J ��Hi� '
1 u�= �β0 ��\�G5�� (5).  
 <%h)� ���l TG�� F��GD+� �#�%& + 2�� ��/��0 '
1�1�95� ��%	�� 
�	-, %p 67��� 8� S� ��%	��� �%50 ≥ p ≥ %0,001 �

 ������ : �h��5� e�&�T�� ��N�
!+� �, T1Th
�� ���NJ ��NG
!��3.3.4.  
���� �\�G�, k�\ �N�G5 ���Tg �T=�� Y�! T= F��GD� �#�%� <1��� ���NG� �zJ, ��1�4�� Wνe�1 �Ng L4G�)� �:  

  
( ) ⎟

⎠

⎞
⎜
⎝

⎛ −ν++−ν⋅+=ν 1.011.0log209.6)(
2

J

 
(12) 

 k, �=z1J(−0.78) ≈0�T	J <1��
�� ��� ��NG
!� eV�	1 A��� f7"� Ti� X��G)1 ���� � . I�Z)�� ���J(ν)N���  ��H�� �
f��0,78− ≥ ν .  

1.3.4 ��	
��� 
���� �����  

 �F��GD+� �#�%& I!�
� <%h)1Ld50
 

(dB) ���G��� �#"� �47 �H	� �4!�
5� �N���� ��NG
!�� �ae ��\�G5�� L4G� �(7a).  
�������� ��	
�� ���
��� ��	�� �����  

 ���hH
�� <%�ζm��J ��Hi� '
1� f�g B%5� f�5 ��%	��� ���\�G5�� �:  

  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
⎟
⎠

⎞
⎜
⎝

⎛ −⋅=ζ −−
d

hh
tcrc

m

31
10tancos  (13) 

 ��!�!"� �]�i� \Tv)��%�@��� A,( ��`
��& F��GD+� �N�G� <%v� �νm50���\�G5�� ��4G5� :  

  ( ) ⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−⋅λ
×ζ=ν

−−

= ii

im

n

i
m

ddd

d
H

31

2
50

102
max  (14) 

 �e!,��� ����� u�=Hi�� �:  

  ( ) ( )
d

dhddh

a

ddd
gH ircitc

e

ii
ii

⋅+−⋅−−⋅+=
2

10
3  (14a)  

�:  
 λ :     ���5� ��of /0,3 = (m)   
  f:     \\�
�� (GHz)  
  d :     B%5� ��o(km)  
  di :     <���
�� ;�l {D�|� �`m5� �4�D �]�%�i f!�5� 8� (km) �) ������ �mD�2.3(  
  htc,rc :  �N�7(hts,rs,g1,n)P��
�� L�J �x�H��� .  
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 I�Z1im50f��\ L�J   �x�H��� �N���� ;�l {D�|� �`m5� �4�Dνm50.  
�� <%& I!�
� F��GD� �#�%T=  ���%�@��� �]�h�� Y�%��Lm50��\�G5�� �:  

  ( )
otherwise           0        

78.0 if 505050

=
−≥νν=

mmm
JL  (15) 

 k�g �l�0 = Lm50kr] � F��GD+� �#�%& I!�
� �Ld50 F��GD+� �#�%&� � + 2����/��0 '
1 �1�95� ��%	�� 
�	-, %β0  8�
67���� Ldβ�k�1��%� �*����  8� T1a� 
���$ ���i� e�
	�� F��GD+� ;���%=.  

e�1 �Ng ���%�@��� �]�i� 8� f��
%5�� f!�5� {D�� L�J Y
1�D�C�� Y
]�i� ��WE	� ��N
t x�&, �@�%& �!�#\ eV�	1 +��.  
 ������ ��	
��� 
���� �������	�� ���� �� ��������  

 k�g �l�2 = im50�%& I�� eV�	1� �f!�5� <D�� 8� �1�D�- �]�= T��� z] � ���=�H5� F��GD+� �#Lt50��H�� L�J � .
e�1 �Ng f���
1 3�%i� kr] ���l Xz&� . ��hH
�� <%�ζt��%�@��� �]�i� S� f!�5� 8� B%5� f�5 �:  

  
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛ −
⋅=ζ −−

50

5031
10tancos

mi

tcmi

t
d

hg  (16) 

�v \T�f!�5� <D�� 8� �1�D�C�� �]�i ��`
��& F��GD+� �N�G� <%v� νt50��\�G5�� �:  

  ( ) ⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−⋅
×

=
−−

=
imii

mi

it

i

i
t

ddd

d
H

m

50

50

31

2
50

102
max

50

λ
ζν  (17) 

u�=:  

  ( ) ( )
50

5050503

2
10

mi

imiimitc

e

imii

ii
d

dgddh

a

ddd
gH

⋅+−⋅
−

−⋅
+=  )17a(  

 I�Z1im50f��\ L�J  {D�|� �`m5� �4�D �f!�5� <D�� 8� �1�D�C�� �]�h�)  �#"� �1#�Z� ����#� ���� �H	J f��\ A,
 �N���� f���5�νt50(.  

�� <% F��GD� �#�%& I!�
�T=  �Y�%��Lt50 ��<D�� 8� �1�D�C�� �]�h�f!�5� ��\�G5�� :  

  ( )
otherwise          0        

2 and 78.0 if 50505050

=
>−≥νν=

mttt
iJL  (18) 

 ������ ��	
��� 
���� ������������ ���� �� ��������  

 k�g �l�1 - n= im50 ��=�H5� F��GD+� �#�%& I�� eV�	1� �f��
%5� <D�� 8� �1�D�- �]�= T��� z] �Lr50��H�� L�J  .
e�1 �Ng f���
1 3�%i� kr] ���l Xz&� .<%� ��hH
�� ζrf��
%5� S� ��%�@��� �]�i� 8� B%5� f�5 �:  

  
⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛

−
−

⋅=ζ −−

50

5031
10tancos

mi

mirc

r
dd

gh  (19) 

�v \T� <D�� 8� �1�D�C�� �]�i ��`
��& F��GD+� �N�G� <%v� f��
%5�νr50��\�G5�� �:  

  ( )
( ) ( ) ⎟⎟

⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛

−⋅−λ
−×

ζ=ν
−−

+= imii

mi

ir

n

ii
r

dddd

dd
H

m 50

50

31

1
50

102
max

50

  (20) 
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u�=:  

  ( ) ( ) ( ) ( )
50

50503 50

2
10

mi

miircii

e

imii

ii
dd

ddhddg

a

dddd
gH m

−
−⋅+−⋅

−
−⋅−

+=   )20a(  

 I�Z1ir50f��\ L�J  {D�|� �`m5� �4�D � <D�� 8� �1�D�C�� �]�h�f��
%5�)  �#"� �1#�Z� ����#� ���� �H	J f��\ A,
 �N���� f���5�ν r50(.  

� <% F��GD� �#�%& I!�
�T=  �Y�%��L r50 �� <D�� 8� �1�D�C�� �]�h�f��
%5� ��\�G5��:  

  ( )
otherwise          0        

1 and 78.0 if 50505050

=
−<−≥νν= niJL

mrrr  (21) 

����� ���	
��� �
��� ���� ����� ��  

 �F��GD+� �#�%& I!�
� <%�Ld50��\�G5�� �:  

  ( )

otherwise                                                                     0        

78.0 if 04.0101 505050
6

5050

50

=

−>ν+++⋅
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛
−+=

−
mrt

L

md dLLeLL

m

  (22) 

 ��\�G5� :�(22) k��� �Lt50� \��� _TJ ��= : *����  <D�� 8� �1�D�C�� �]�i k��� �fC5��� �f!�5�Lr50 ��= : *���� 
� \��� _TJ <D�� 8� �1�D�C�� �]�if��
%5�.  

D�g �l�� 6Ld50 = 0 kr] � F��GD+� �#�%&+ 2����/��0 '
1  �1�95� ��%	�� 
�	-, %β0 67��� 8�*�Z1, *���� k��
! .  
 T	J ��	
�� S� ���i� T	J�p = %50 F��GD+� ;���%= 8� T1a� 
���$ ���i� e�
	� �I�] ) ������ �mD�3.3.4(. Xz&� 

 F��GD+� �#�%& 3�%= <� ���l+ 2�� '
1 ��/��0 �1�95� ��%	�� 
�	-, %β0  67��� 8�e�1 �Ng .  
2.3.4  ������� ��	
� �
�	���	� ��� �  ������ ��
�
� �	���%β0  ���
� !"  

 F��GD+� �#�%& <%h)� 2����/��0 '
1 + �1�95� ��%	�� 
�	-, %β0  67��� 8� �/��0 '
1 A��� ��G��� �#"� �47 �HD ��NG
!�� 
 
�	-, �1�95� ��%	��%β0 67��� 8� �aβ � ���J ��Hi� '
1 A���� ��\�G5��)7b .( ��NG
!� eV�	1 �F��GDz� ^�C�� 3�%i� ��n ��%	����

 f�, 8� �4!�
5� ���h�� �`��� f��
�� � 2�� ��
g �`%�D X��i� 
�	�1�\V;� .e�1 �Ng ��� F��GD+� �#�%& 3�%= f���
1 s.  
 ������� ���	
 ��	����� �
��!� "����#$%�& '�(   �(�)�� �*	��� ���+,%β0  -.��� /0  

 ��!�!"� �]�h�� F��GD+� �N�G� \Tv)��%�@��� A,( �νmβ��\�G5�� �:  

  ( )
5050

3
102

mimi
mimm

ddd

d
H

−⋅λ
×ζ=ν

−

ββ  (23) 

u�=:  

  ( ) ( )
d

dhddh

a

ddd
gH mircmitcmimi

mimi
505050503

50
2

10
⋅+−⋅

−
−⋅

+=
β

β  )23a(  

v <% F��GD� �#�%&T=  Y�%��� �]�h� ���!�!"�Lmβ� ����\�G5:  

  ( )
otherwise         0         

78.0 if 

=

−≥νν= βββ mmm
JL  (24)  
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 ������ ��	
��� 
������	�� ���� �� ��������  � ��������� !"�  ���#�� �$�%�� &�%'(%β0 )*��� ��  
 6D�g �l�Lt50 = 0 kr] �Ltβ*���� k���  .<%v ���l Xz&�  F��GD+� �N�G��]�h��f!�5� <D�� 8� �1�D�C��  νtβ �

 ��4G5�5����\�G:  

  ( )
505050

50

3
102

timiti

mi

titt
ddd

d
H

−⋅λ
×

ζ=ν
−

ββ  (25) 

u�=:  

  ( ) ( )
50

505050505050503

50
2

10

mi

timitimitctimiti

titi d

dgddh

a

ddd
gH

⋅+−⋅
−

−⋅
+=

β
β  )25a(  

v <% F��GD� �#�%&T=  Y�%��� <D�� 8� �1�D�C�� �]�h� �f!�5�Ltβ� ��4G5� ��\�G5��:  

  ( )
otherwise         0        

78.0 if    

=

−≥= βββ νν
ttt

JL  (26) 

 ������ ��	
��� 
�����$+"��� ���� �� ��������  ��� ������� !"�  ���#�� �$�%�� &�%'(%β0  )*��� ��   

 6D�g �l�Lr50 = 0 kr] Lrβ*���� k���  .<%v ���l Xz&�  F��GD+� �N�G��]�h�� <D�� 8� �1�D�C�� f��
%5� νrβ �
��\�G5�� ��4G5�:  

  ( )
( ) ( )

505050

50

3
102

rimiri

mi

rirr
dddd

dd
H

−⋅−λ
−×

ζ=ν
−

ββ  (27) 

u�=:  

  ( ) ( ) ( ) ( )
50

5050505050503

50
2

10

mi

mircrimirimiri

riri dd

ddhddg

a

dddd
gH

−
−⋅+−⋅

−
−⋅−

+=
β

β  )27a(  

v <% F��GD� �#�%&T=  Y�%���� <D�� 8� �1�D�C�� �]�h �f��
%5�Lrβ�  ��4G5���\�G5��:  

  ( )
otherwise          0        

78.0 if    

=

−≥= βββ νν
rrr

JL  (28)  

���,� 	-��� �.�/0  ��� ������� !"�  ���#�� �$�%�� &�%'(%β0 )*��� ��  

vF��GD+� �#�%& <%  + 2����/��0 '
1  �1�95� ��%	�� 
�	-,%β0  67��� 8� Ldβ  ��4G5���\�G5��:  

  ( )

otherwise                                                                0       

78.0 if 04.0101 6

=

−>ν+++⋅
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛

−+= βββ
−

ββ

β

mrt

L

md dLLeLL

m

  (29) 
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3.3.4  ����� ���	
�� � �
������� ��������� ����
� �����  %p ���
� !"  

1 e�&�\ ��N�
!� f��J ��G��� �#"� �47 �HD f��G� Y
�N
�� Y
N���� [��4� : '�h
Fi eN
1#���� >1/�� S� T	
%1 
 xT� L�J F��GD+� �#�%� A\�J%50 ≥ p > %β0;+\�G5�� ���J ��Hi� '
1� �:  

(30a) Fi = 0 if %50=p   

(30b)  = 

⎟
⎠

⎞
⎜
⎝

⎛ β

⎟
⎠

⎞
⎜
⎝

⎛

100

100

0I

p
I

 if %%50 0β>> p   

(30c)  = 1 if p≥β %0   

 

 u�=I(x) ��N
=+� ��+T� e��N�
�� eNg��
�� eG��4�� >1/�
�� M��G� �� x .
�� : \�1� f�1�31���  ���T� <I(x) 8�~ 
 k��� ��T	J ��- ���� ���NG
!�0,5 ≥ x .  

 ��, �F��GD+� �#�%&Ldp � + 2����/��0 '
1 �1�95� ��%	�� 
�	-, % p 67��� 8� ��\�G5�� �	� L4G)� e`] :  
(31) iddddp FLLLL )–( 5050 β+=                 dB 

 k��#�%�� \Tv u�=Ld50� Ldβ�G5��  Y
�\(22)� (29) f��G�� \Th)1� �P��
�� L�J Fi ;+\�G5�� (30a-c) '��� *�G�� �p� β0.  
 �F��GDz� ��=�H5� ��!�!"� ��!#$� �#�%& I!�
� L�J ��Hi� '
1�Lbd50��\�G5�� �:  

(32) 5050 dbfsbd LLL +=                 dB 

 L�J ��Hi� '
1 u�=Lbfs ��\�G5�� (8).  

1� 2��� F��GDz� ��=�H5� ��!�!"� ��!#$� �#�%& L�J ��Hi� ' + ��/��0 '
1 �1�95� ��%	�� 
�	-,%p67��� 8� ��\�G5�� :  

(33) dppbdb LLL += 0                 dB 

 L�J ��Hi� '
1 u�=Lb0p ��\�G5�� (10).  

4.4 ��������	
� ��
�	

� �
�	���  
�� ����1 ��� �� ���� ��	 
��
� ��� ��� ������  %50 ������� ����! �� "#$#%� &�'(��)���� ������� *�+(	 ,�- �


+.�/ ������ 0��.12 3��2 4�� 5�67� 
������� . 9:�; <��� = ��)"&�'(��)���� ������� " ? ������ @�$A��B @�C$C�2 
$D���� EF�
�'(��)���� ������� G�H'I
������� ������� 0��.12 @�J�	 ,C�� &F�� &EF�  . K��� �C��� LA�2 M��NO� P�: QC��)R S���

 
$(�(7� T�(�U�<� VW��� �� 
��
� ��� p X� Y)���2 %0,001) %50) �� Z[ P�: &�L\�� 9:�;  &�'(��)���� �������
]N�I�#A^�� _+� `������) 0��� �� S�aD 
��
� ��� ���  b� VW�"������� *�+(	 " c$�J�� "#A�I� T�dC+� �(��I� "#$#%�

A�� <e	 M��.	 Ef)�B g�� &F��
VW��� �� 
��
� .  
������ 2 �  &�'(��)���� �������� LA��+� 9:�C��� �F� h�#�i� j �#� k��l7 ������� m)�i *��% @�A(��� <��� �) ,6������ LA����

Tn6 �� ��e	 %50K-7� <� 
�������� 0nop�I� 
Cq�	 ? M��7�� 
D�R� ����r� ? �.L2 4��) VW��� �� .  

� e4G���\�G5� AB�!����
�� #�C
D+� S� �T@�G�� ��!�!"� ��!#$� �#�%& ����
�� Lbs �`	J *�dG� �T=�� (dB) �+ 2��  '
1
 67��� 8� �1�9� ��%D �1, 
�	-, ��/��0P 8� �\, %50:  

        dB[ ] 7.0
0 )50/(log–1.10–15.0–θ573.0log20190)( pALNdLpL gcfbs +++++=  (34)  

u�=:  
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  Lf:   �#�%��<%= \\�
��:  

      dB

2

2
log5.2)log(25 ⎥

⎦

⎤
⎢
⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛⋅−⋅= f
fL f (35) 

 N0:   �B%5� �H
	� T	J �h��� x�
%� L�J �4%�� �1#�%�D+� k, 8�~ 2�� f�E�� 8� [
E�2.  

5.4   �
�	�������� ��������	
� �
�	��� �� ��
�
�/�
�����!"#
� $%� &
  

 L�J ��Hi� '
1��!�!"� ��!#$� �#�%&Lba  (dB)���5� AB�!����
�� #�E
Dz� ��=�H5� ���4�� L�J M��GD+��  �;�
 ��/��0 '
1 + 2��� �1�95� ��%	�� 
�	-,%p67��� 8� � ��\�G5��:  

      dB)(pAAL dfba +=  (36)  
u�=:  

  Af:  P�K� k��
7+� �@�%&  �
��C��) �@�%�� 
�	C
!��8J �0�	������� [@��G��  ( ��	�� ;��@��n� Y�
 #�E
D+��|� : 'm
	5� B�:  

  dB   crctsrstlrltf AAAAddfA +++++++= )(log20log2045.102  (37) 

  Ast �Asr :   <�= B-W� S� T@�G�� F��GD+� ��#�%&>7�5� �4hN�� ��!�5� �4��� ����
%5� L�J �P��
��:  

  
( )[ ]

⎪
⎪

⎩

⎪
⎪

⎨

⎧

≤θ ′′

>θ ′′θ ′′+⋅θ ′′+
=

mrad0fordB

mrad0fordB

0

264.0361.01log20

,

,
3/1

,
2/1

,

,

rt

rtrtlt,lrrt

srst

fdf

A  (38) 

u�=:  
  mrad1.0–θ

, lt,lrt,rrt d=θ ′′  (38a)  
  Act �Acr :  �
N�7 k��
7+� ��hH� ���5� AB�!����
�� #�E
D+�� �4hN�� �h��� ��] �4%�� L�J ��!�5� 

 �4�������
%5�P��
�� L�J �:  

 ( )))–50(07.0(tanh13–
2

0.25–

ts,rs
d

ct,cr heA ct,cr +=  dB for ω  ≥ 0.75 

(39)     
crct

d
,

 lrltd
,

≤   

     
crct

d
,

 ≤ 5 km 

 0
,

=
crct

A  dB for all other conditions (39a) 

�T��5� 8� ��\�G5� �`�] k��� 2�� ���E�� 8� �\�T�� �J�Nb� S� �#�c$� (39)�1#��� .  
  Ad (p):   #�E
D+� ���� f&�\ �1���a�� �]�%5�� 67��� 8� �1�95� ��%	�� ��+T� �@�%��'m
	5� B�:  

      dB)()( pApA dd +θ′⋅γ=  (40)  
u�=:  

  γd:  ������eJ�	�� :  

      dB/mrad
3/15–

105 faed ×=γ  (41)  
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  θ′:  ��	
��U1��a��  �)h�� *��]� �hhH� ���) ��\�G5� �z& 8�((38a) B-W� Fl�� [��4� �=��� f�, 8� 
 <�=>7�5� ��\�G5� : ((36):  

  mrad
10

3

rt

e
a

d θ′+θ′+=θ′  (42) 

  
⎪
⎩

⎪
⎨

⎧

>

≤
=θ′

mrad1.0θformrad1.0

mrad1.0θformradθ

,

lt,lrt,rlt,lr

lt,lrt,rt,r

rt

dd

d

  (42a)  

  A(p):  : BV
�� 67��� 8� �1�95� ��%	�� )eNg��� >1/��:(  

 dB12log)107.32.1(12)( 3

Γ
−

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

β
+⎟⎟

⎠

⎞
⎜⎜
⎝

⎛

β
×++−= pp

dpA (43) 

 

( )
( ) 13.16–2 10)(log198.0log8.4–51.9–

012.1
e

βlog–0058.2

076.1 d⋅×β+β×=Γ (43a) 

     %320 µ⋅µ⋅β=β (44) 

  µ2:  B%5� �!T	� S� ��%	��� ��hH
��:  

  
( )

α

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡

+
=µ

2

2

2

500

rete
e hh

d

a
  (45)  

     �N�7 /���
� +, <��µ2 #�T��1:  
 τεα ⋅⋅−−= − 1.39

.106.0 d (45a) 

u�=:  
  ε:  3,5  
  τ:  �\Tt ��\�G5� : (3)  �N�7 f�� �+, <��α  8J3,4–  
  µ

3
:  � ��hH_�m
D+� _TJ���#"� �1#�Z
�� : :  

 

[ ]⎪
⎩

⎪
⎨

⎧

>+×

≤
=µ

m10for)643()10–(106.4–exp

m10for1

5–

3

mim

m

hdh

h

 (46) 

     km)40,––(min lrsltI dddd = (46a) 

\�1� Y��T|� : x�&"� ;�h�4H5� �1�G� 1� 2 f�1�
�� :� 2.  

6.4   � ��� �����	� 
����� 
���������� ��� ������ ������ ����� %p�!��� "#  $� %50"#  %!���� 
&�'(�� ��)* +�,�-. "/ '0��� 123  

 <%h)� eg ;�B%5� f�� ��%	��� ����%�� ;���%i� w@�
D L�J P�
�� 
���$� [��4� eV�	1 2�� ��!�!"� ��!#$� �#�%&
+ ��/��0 '
1 �1�95� ��%	�� 
�	-, %p67��� 8�  :� %50 >7��5� 8� .�G5� B� �1#��N
!+� _TJ ec�h
�� �� W�	
)1 �N�] ���
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 ��!#$� �@�%� ��UTG� '�7 L�J ��Hh�� *�G� ����%�� #�E
D+� Fl�� I�& <� ������
]� ��!�!, ��!#� �@�%& 8�
f�, 8� P�K� ��	� [��v ��V� ��!�!"�  �1�95� ��%	��%p67��� 8�  :� %50 >7��5� 8�.  

 �e�&�T�� ��N�
!+� f��J <%�Fj �]�%5� �&" �k��%i� : B%N�� �1��a��:  

 ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
⎟
⎠

⎞
⎜
⎝

⎛

Θ
Θ−θ⋅ξ⋅+−=
)(

0.3tanh0.15.00.1jF (47) 

u�=:  
  Θ:   �N���� �&W�� �<=�H5� I���� A��a�� xT5� \Tv �
��- �N�G�0,3�  
  ξ:   �N���� �&W�� �xT5� �1�� : I��� f�� \Tv �
��- �N�G�0,8�  
  θ:  �]�%5� ��T|� : �`�1�G� \�1 2�� �B%N�� �1��a�� 7.  

<%� �e�&�T�� ��N�
!+� f��J Fkk��%i� : B%N�� LNmG�� ��@�T�� �]�%� �&" �:  

  ⎟
⎟

⎠

⎞

⎜
⎜

⎝

⎛
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛ −⋅κ⋅+−=
sw

sw
k

d

dd
F

)(
0.3tanh0.15.00.1  (48) 

u�=:  
  d:   LNmG�� ��@�T�� B%� ��o(km) ��T|� : \T�� 3 

  dsw:   �N���� �&W�� �<=�H5� I���� �]�%5� xT� \Tv �
��- �N�G�20 

  κ:  ��� f�� \Tv �
��- �N�G� �N���� �&W�� �xT5� 21�� : I0,5.  
 ������
]+� ��DT�� ��!�!"� ��!#$� �#�%& <%vLminb0p (dB)��h��� ��] eJ���� B%5� F��GD�� �H��� I& #�E
D+ ��=�H5� :  

(49)  

⎩
⎨
⎧

β≥⋅−ω−++
β<ω−+

=
β dBfor ))1((

dBfor  )1(

050050

00

0min pFLLLL

pLL
L

bddpbbd

dppb
pb   

u�=:  
  Lb0p:   �H��� I& : �����
]+� ��!�!"� ��!#$� �#�%& + 2��
1��/��0 ' �1�95� ��%	�� 
�	-, %p 8� 

67��� ��\�G5�� �`��J ��Hi� '
1 2��� �(10) 

  Lb0β:   �H��� I& : �����
]+� ��!�!"� ��!#$� �#�%& + 2����/��0 '
1 �1�95� ��%	�� 
�	-, %β0 8� 
67��� ��\�G5�� �`��J ��Hi� '
1 2��� �(11)  

  Ldp:  �#�%&F��GD+�  + 2��  ��/��0 '
1 �1�95� ��%	�� 
�	-,%p67��� 8�  ��\�G5� 8� �(31)  ���%���
 ������ : �]���5� ��1�4�� ��NG
!��3.4  

  Lbd50:  I!�
�  ��\�G5� 8� �F��GDz� ��=�H5� ��!�!"� ��!#$� �#�%&(32) ��NG
!�� 3�%��� �
 ������ : �]���5� ��1�4��3.4  

  Fi:  ��N�
!+� f��J ��\�G5�� ���J ��Hi� '
1� �Y��G��� �#"� �47 e�HD F��GD+ e�&�T�� (30).  
v ������
]+� ��DT�� ��!�!"� ��!#$� �#�%& <%Lminbap (dB)[]"� dJ �#�c$� ;�a1aG�� �H��� I& #�E
D+ ��=�H5� �:  

(50)  

⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜

⎝

⎛

+⋅η=
⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

η⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

η
pbba

LL

bapminL

0

eeln                 dB  
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u�=:  
  Lba:  �#�%&: ��!�!"� ��!#$�  ;���4�� L�J M��GD+�� ���5� AB�!����
�� #�E
D+�  + 2�� '
1

��/��0 �1�95� ��%	�� 
�	-, %p67��� 8�  ��\�G5�� �`��J ��Hi� '
1 2��� �(36)  
  Lb0p:  �#�%&e���
]+� �H��� I& : ��!�!"� ��!#$�   + 2����/��0 '
1�1�95� ��%	�� 
�	-,  %p 8� 

67��� ��\�G5�� �`��J ��Hi� '
1 2��� �(10)  
  η   =2,5.  

 ������
]+� ��!�!"� ��!#$� �#�%& <%vLbda (dB);�a1aG�� F��GDz� ��=�H5� � �, �H��� I&  AB�!����
�� #�E
D+�
;���4�� L�J M��GD+�� ���5�:  

(51)  

⎩
⎨
⎧

≤⋅−+
>

=
bdbapminkbapminbdbapmin

bdbapminbd
bda

LLFLLL

LLL
L

    for)(

    for
                dB  

u�=:  
  Lbd:  2�� F��GDz� ��=�H5� ��!�!"� ��!#$� �#�%&  +��/��0 '
1 �1�95� ��%	�� 
�	-, %p67��� 8�  

 ��\�G5� 8�(33)  
  Lminbap:   dJ �#�c$� ;�a1aG�� �H��� I& #�E
D+ ��=�H5� �����
]+� ��DT�� ��!�!"� ��!#$� �#�%&

[]"�  ��\�G5� 8�(50)  
  Fk:  �
!+� f��J���J ��Hi� '
1 A��� �e�&�T�� ��N ��\�G5�� (48) �B%N�� LNmG�� ��@�T�� �]�%� �N�7 []� �d.  

 ���TG5� ��!�!"� ��!#$� �#�%& <%vLbam (dB);�a1aG�� �F��GD+� k��%i� : �&W� 2�� � �, �H��� I&  #�E
D+�
;���4�� L�J M��GD+�� ���5� AB�!����
��:  

(52)  jbdapbminbdamba FLLLL ⋅−+= )( 0                 dB 

u�=:  
  Lbda:  ;�a1aG�� F��GDz� ��=�H5� �����
]+� ��!�!"� ��!#$� �#�%& �, �H��� I&  #�E
D+�

 �;���4�� L�J M��GD+�� ���5� AB�!����
�� ��\�G5�� �`��J ��Hi� '
1 2���(51)  
  Lminb0p:  �
]+� ��DT�� ��!�!"� ��!#$� �#�%& eJ���� B%5� F��GD�� �H��� I& #�E
D+ ��=�H5� ����

 ��h��� ��] ��\�G5�� �`��J ��Hi� '
1 2���(49)  
  Fj:  ���J ��Hi� '
1 A��� e�&�T�� ��N�
!+� f��J  ��\�G5��(47)�B%N�� �1��a�� �]�%5� �N�7 []� � θ.  

v<% + 2�� ��!�!"� ��!#$� �#�%& ��/��0 '
1
�	-,  �1�95� ��%	�� %p67��� 8�  :� %50 8J �m	�� �V� >7��5� 8� 
X��45� ���� ;�B-W� �Lbu (dB)��\�G5�� �`��J ��Hi� '
1 2��� �:  

(53)  ( )bambs LL

buL
2.02.0

1010log5
−− +−=                 dB  

u�=:  
  Lbs:   ��!�!"� ��!#$� �#�%&���
D AB�!����
�� #�C
D+� (dB) �0 '
1 + 2�� ��%D �1, 
�	-, ��/��

 67��� 8� �1�9�%P ��`��J ��Hi� '
1 2���  ��\�G5��(34) 

  Lbam:  ;�a1aG�� �F��GD+� k��%i� : �&W� 2�� ��TG5� ��!�!"� ��!#$� �#�%& �, �H��� I&  #�E
D+�
�;���4�� L�J M��GD+�� ���5� AB�!����
���`��J ��Hi� '
1 2���   ��\�G5��(52).  
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7.4  ��	
�� ��
� 	����  

 YJ���#+� 6v f��
%5� �, f!�5� e@��� >U��� T	JRt �, Rr kr] �f��
%5� �, f!�5�� I��� e�#"� 
�4V�� Y�CN5� 
 �f��
%N���  f!�N�� ���|� �#�%&Aht �Ahre�1 �Ng k��%v  . : k���� �T=�� f��
%5�� f!�N�� ��T�
%5� ��1�4���

��="� �����
�� �Ah=  Ahr �, Ahr � �h=  htg �, hrg� � R =  Rt �, Rr
�Z
7+� <%= .  
 k�g �lr]h ≥ R���  0 = Ah 

 k�g �l��h < R kr] �Ah ���|� IN	� *�G�� �Y
V�� xT=� ��
� k, 8�~ )|� �mD���T 2:(  
  dB   Ah = J(ν) – 6.03  (54a)  

�,:  
  dB   Ah = –Kh2 log(h/R)  (54b)  

 <%h)� ���T��J(ν) ��\�G5� �4!��� )12.(  
 81Ti� L�J ��Hi� '
1�ν �Kh2;+\�G5�� :  

  clutdifnu hK θ=ν  (54c)  
   hdif = R − h        m

  

(54d)  
 ;��#\  θclut = tan

−1
 (hdif / 27)

  

(54e)  
 Kh2 = 21.8 + 6.2 log ( f )

  

(54f)  
 f342.0Knu = 

  

(54g)  
u�=:  

  f:  �� \\�
(GHz).  
 ��\�G5� �V�� fC�(54a) f	%1�] F��GD� �#�%& )Fresnel (^��5� ���� f��7 8� ���|� ;�9] L�J [�4)�� �[@�J dJ . k����

IN	�� ��� 8� ���H�� ��� L�J ��1�Zi� ���|�.  
 ��\�G5� fNG
%)��(54b)YJ�Gc f&�T� 8J �K�D ��#l ��, 6v ����#+� <%g ���\ f�CN
� �#"� 8�  . ��� 6%���

���|� #�o� ��D 8N� �`
���G� ��
1 I�%��� w`	�� ��� k, T�� �>7���� : ����� ��Z�� . fNG
%)� ��r] ���"� _a� kr]
 ���� I� ����
�"����¡ B� " >�"���� ����#�" �Rf&�T� ¢] ��, ����#� f�C~ �.  
 L�J ��Hi� '
1�+ 2�� ��!�!"� ��!#$� �#�%& ��/��0 '
1 �1�95� ��%	�� 
�	-, %p67��� 8�  :� %50 >7��5� 8�  �£

�`�]X��45� ���� ;�B-W� � Lbc  (dB)��\�G5�� �:  
  dB          hrhtbubc AALL ++=  (55) 

u�=:  
  Lbu:  �#�%& + 2�� ��!�!"� ��!#$� ��/��0 '
1 �1�95� ��%	�� 
�	-, %p67��� 8�  :� %50 � 8

>7��5� ����CN
�� ���|� ����#� T	J )
�Z
7+� <%= �7�] �,( ��\�G5�� �`��J ��Hi� '
1 2��� �(53)  
  Aht,hr:  �#�%�� ��]��$� Y
�\�G5� : �`��J ��Hi� '
1 2��� �f��
%5�� f!�N�� ����i� ���|� 8J �0�	�� 

)54a� 54b (
�Z
7+� <%= .��H�� �N��� �`4�� eV�	1�<�i� ��� fC� 3��� : .  
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8.4 ����� 	���������� ���   

�� _�`�� BE1 ����J ��H�� �����
�� ��� : : �U�V
e��� e�#"� 
�4V�� ;�BV
� ����� ��D��5� ;��@�H=$� S� >7�5� . ���
�� �e�#"� 
�4V�� ;�BV� BC�� ���� 2�� ��1��5� S� ��%	��� �T��� ���
D fC~ �� A, �`��� ��%	��� B%5� ;�BV� fC� + 2�

��}, .�� k, �£� : �U�V
_�m	�� ��4D ��J L�J TN
G1 + �Dr] ��\TG
5� ;�B%5� ;�BV� TG�
%1 �¤ L�J XU�G)1 >7�5�. 
*�Z1, A#��Z�� 8� k���!� �&�� k, ��1�1\���� �NmD"� I�4�
� [�G
1 �N�] �;�B-W�: �\TG
5� ;�B%5� k��%i�  .

 #�-O� ��� B-W� ��
��!�� �NmD"� Xz
&� L�J �7�
1 P�
����B�E
�� I4¥� f��E
��� ��4	�� ��J. ����
�� _T��� 
ITU-R P.1406;�B-W
�� ��� ���� kWE� ;�\�c#� .  

� k, ;�D����� �C�5� f��h
�� Y�1 �4!�
5� ��b� �Tc >1/�� 8J �K�	�� ;�BV� 
�4V���#"�e :  ��4	� ;�9���� :
e=��Z��� �1�Zi�� A\�J eN
1#���� >1/�� ��¦*��1��� A��� I!�
� �l .  

 TN
G�� X��¤+� '�7A#��G5� J*�#�E
D� ���1��
�� ;�!�#T�� ;�`§, T7� ��9����� \\�
�� L�*�B�g  .� L�J ��Hi� 8�~ '����
 A#��G5� X��¤z� ����CN
�� ��%	��� ;�=�%5 ¨���m 500 : m 500 �4!��� ��\�G5�����
�� :  

     dB)(log3.1 fKL +=σ  (56) 

u�=:  
  K=  5,1 S� ��%	���  �9��� �1�Zi� �9���� : ���|� ����#� 6v ���H	5� ;��@��n� ;�l ;z��
%5�

;�l ���	
5� �NmD©� e=��Z�� ;���0+� ����c ;��@��� �#��! ��! ����#��  
  K=  4,9�� ;z��
%5� S� ��%	����|� ����#� 3�7 ��! ;��@��� ;�l   
  K=  4,4;z��
%5� S� ��%	��� ���1��� [o�	5� :   

  f :   3��45� \\�
��(GHz). 
 8� �=�%� dg, �`��J >7�5� : �U�V
�� [��4� >�a)1 2�� ��4	5� 6D�g �l��m 500 : m 500o�	5� f�� [�G
1 �U�V
�� k�g �l� �, � [

 �N�7 \�\a� X�%] ��1\�] [o�	� dJ ���� �8U�G� ªxT� : �A#��G5� X��¤+�σL . : �\�1a�� k, ���1��
�� ;�!�#T�� 6	�� T7�
 >7�5� : �U�V
��)�BV� ��4	� '��� ��%	��� ( S� fH�dB 4 ���47 �HD ��4	5 km 2 S�� dB 8 ���47 �HD ��4	5 km 50.  

5� <%	�� >7��5 8�~� ��1�9pL Y� �U�V
� k, �%1� %99 . 8J f�� �1�9� <%D >7��5 Fl�N	�� ��� ��H1 +�%1 8J T1a� �, %99.  
� #T0 A#��Z�� 8� k���! �D, S� �#�c$�_�J ���� � ����, �G�� I�4�
��) I4& ���C5� f��! L�JY�G
�� \TG
5� 

X��o"� ( �1�G� ��NG
!�"�� BV
 :>7�5� " fN
E1 A�����& 8� ��#\ L�J �\TG
5� ;�B%5� . ���= L�J ��l A�%1�
 ���J �4%�� ��] e@��� �, �\TG
� ;�B%� dJ #�E
D+� L�J ����
� #�-� \��� _TJ ���= : 6��- 3��!W� �f�	
� f��
%�

 ;�\\�
�� 8� \TJ ����
!� 8�~ +�>�N��� fC�, �¤ L�J �`���� .� F�
� k, 8�~ ���l S� �]���� S� I�4�
�� ��
 ��4	5� 8� dg, ��4	� : BV
�� ��J������
�5�����
�� ��� : .  

��T|� : �\#���� '���� TG� ����%�� ��� :� 5�1�1\���� ;��T�� 8� \TJ S� ��%	��� �N@z�  �n I4�5�.  

|�� ��T5 

 �������� � 	
��
 ������� �������
� ���� ��� � �������� ����  

������� ��	
��  
 

MHz 100 MHz 600 MHz 2 000 

������ ����	
�	 ��
�	 (dB) 8,3   9,5  –  

����� ����	
�	 ��
�	 (dB)  5,5  5,5  5,5  
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f��
%5� k��1 ��T	J >7�5� BV� ��hH� [�4	1 +�/ f�	
5� *�#��¡�h���.  
f��
%5� >�� T	J�/5� F#�&� �#"� L�J f�	
5� ���|� ����#� A��%1 �, 8� dg, �#"� ��] �J���#� k��1 �N	�� ^��

����G5� 8N] �����CN
�� �� �4�D : ecz
�� T= S� >7�5� : BV
�� \�45� ¢7�	
�� >7�� �����#+� \�1\/� >� . ��� :�
�U�V
�� ����#� �1�V� L�J ��Hi� 8�~ �����
��  �>7�5� :u(h)� ;�7zG��� �����
�:  

(57)  

hRhu

RhR
Rh

hu

Rhhu

≤+=

+<≤−−=

<≤=

10for 0)(

10for 
10

)(
1)(

0for 1)(

  

 u�=(m) Rf��
%5� >7�� : ����CN
�� ���|� ����#� �� /f�	
5� .f��
%� S� ��%	��� ����/ kr] �^��5� F#�& \���� f�	
�
 �>7�5� : �U�V
�� A#��G5� X��¤+�σL ��\�G5�� ���J ��Hi� '
1 A��� �(56) ��T|� 8� �, 5� eV�	1 � �1�V� ���\ : ���

 �����#+�u(h) �`��J ��Hi� '
1 2�� �(57) '��� ��!�!"� ��!#$� �#�%& '�7 3�%= T	J ��l� �%pL  ���
�5�8J %50.  

9.4   ���������� �� !��"��  

� �#�%& X(�G)�^��5� S� ��&T� �T=�� �#���� ��, L�J (dB) ��b� �Tc I!�
� Y� )>7��N�� ��%	���( 8U�G� ����#� L�J 
�	� F#�& 
 �%�D 
�	��� f&�\ ��b� �Tc I!�
�� �#"� x�
%� ��])>7��N�� ��%	��� (�#"� x�
%� ��] �%�D ����#+� L�J.  

 S� ��%	��� Y
��� Y
N�G� ��J��� 8� *�Z1, T� +������ ���� 	��
��
� . e� ��D�C��� ¬�5� S� ��&T�� �#�%& e� S�"�
V
��� �#�%& : �U� ���
D ¬�5� S� ��&T�
�	��� \��� Xz
&� . ;���
�� k��%i� : �&W� ��D\, �\#���� �1#��G5� ;�]��¤+��

^��5� ��
¥ 8N� >7�5� : �U�V
�� fNE� + ��, +� �^��5� S� ��&T�� �#�%& : B���� . ;����G5� k, S� �#�c$� #T0�
�� w@�
D� �7�-�5��\�Tt ^��5� S� ��&T�� �#�%Q ����� M��� . : �n�NG
!� 8�N5� ^��5� S� ��&T�� �#�%& '�7 \���

 ��T|�6�
7�� �#�H� ��l� ���D\, .  

|����T 6 

 ���������	 
� �
���	(1)� Lbe �σbe  

F    ������	 ��
��(dB) Lbe  �������	 �	���	(dB) σbe  

GHz 0,2  9 3 

GHz 0,6  11  6 

GHz 1,5  11 6  
(1)  ��������	 
������	 
� ����	 ���� ��� ����	 ��� ���� 
��.  

 6v ;�\\�
�� ��%	���GHz 0,2 �Lbe
 

 =dB 9 �σbe = dB 3�  ��] ;�\\�
�� ��%	����GHz 1,5 �Lbe = dB 11 �
σbe = dB 6 . 81\\�
�� Y� ���GHz 0,2� GHz 0,6)  Y��GHz 0,6� GHz 1,5(~ � 8� f�� ��!�	� '�7 L�J ��Hi� 8�
Lbe� σbe '�7 Y� e4�� e�&�T�� ��N�
!+�� Lbe� σbe Y� ;�\\�
�� ��%	��� ��T|� : �\#���� GHz 0,2� GHz 0,6 

GHz 0,6)� (GHz 1,5.  
 ^��5� F#�& �U�V
�� w�\ ���H= �`] ^��5� f&�\ ����
!+� S� ��%	��� ��b� �Tc �U�V� ��,(σL)  �U�V
��� Y��� 8J '��	��

 
�	���(σbe) .81�U�V
�� 81�� Y� ����#� ��#"� L�J T��1 +� . S� ��%	��� A#��G5� X��¤+� 3�%= 8�~ s 8��
 ^��5� f&�\ ����
!+�(σi)Y1\���� Y1#��G5� Y]��¤+� eG��� ��Nb eG���
�� #�|� �&W�  . 
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22
beLi σ+σ=σ (58) 

u�=:  
  σL:  X��¤+����J fHh
5� �h	�� L�J >7�5� : �U�V
�� A#��G5� ��\�G5��  (56) ��T|� 8� �, 5.  

 8� dg, ��4D ��G� ��N7��� ;+�!#­� ��%	��� �*zCN]MHz 1 �: �1�
5� ;���5� (VHF) k�1#��G5� k�]��¤+� u�= �
 �} �#�c­�dB 5,5 �dB 3 P��
�� L�J� k��� � ���g�5� �N���dB 6,3 .��4	�� : ��, IV/V�  k�1#��G5� k�]��¤+� u�=
 �} �#�c­�dB 5,5 �dB 6 ���g�5� �N���� k��� �dB 8,1.  

10.4   # $�� ��%�%&� !�%�'� ������()*�+ ,�- � �-�.�� ���/
%p 0���� 12 3* %pL������ 12   

1 ������5� �1�95� ��%	�� >7��� 3�%i ��#�%�� I!�
� L�J ��Hi� '
Lloc �A#��G5� X��¤+�� �σloc � 8�����
�� ;+\�G5�:  
  0=locL)   ^��5� F#�&(  )59a(  
  beloc LL =)   ^��5� f&�\(  )59b(  

�:  
  Lloc hu σ⋅=σ )()   ^��5� F#�&(  )60a(  

  iloc σ=σ  ) ^��5� f&�\(  )60b(  
 �^��5� S� ��&T�� �#�%& I!�
� \�1 u�=Lbe ��T|� : �6 �����#+� ���\ L�J ��Hi� '
1� �u(h) ��\�G5�� �(57) 

 � k�1#��G5� k�]��¤+��σL� σi � �N`��J ��Hi� '
1 ��\�G5��(56))  ��T|� �,5 ( ��\�G5���(58)P��
�� L�J �.  
�J ��Hi� '
1� L + 2�� ��!�!"� ��!#$� �#�%&��/��0 '
1 � �1�95� ��%	�%p67��� 8�  :� %pL �>7��5� 8� (dB) Lb��\�G5�� �:  

  dB   
⎭
⎬
⎫

⎩
⎨
⎧ σ⋅⎟

⎠

⎞
⎜
⎝

⎛−+= loc
L

locbcpbb
p

ILLLL
100

,max 0  (61) 

u�=: 
  Lb0p:   + 2�� ��!�!"� ��!#$� �#�%&��/��0 '
1 � �1�95� ��%	�%p67��� 8� :�  %50>7��5� 8�  

�=�H5��� �I�H���  ��\�G5�� �`��J ��Hi� 8�~� �f�"� �BH7 ;�a1aG� >� (10)  
  Lbc:   + 2�� ��!�!"� ��!#$� �#�%&��/��0 '
1 � �1�95� ��%	�%p67��� 8�  :� %50 �£ �>7��5� 8� 

���� �@�%& ;�B-W� �`�] �X��45�  ��\�G5�� �`��J ��Hi� 8�~�(55)  
  Lloc:  I!�
� �N�7&  '
1 A��� >7�5� �#�%���J ��Hi� ��\�G5��  (59a)� (59b)  
  I(x):  >1/�� eG��o eNg��� ���N
=+� : ���Tg e%�J e��N�� x .�1�
�� : \�1� f3<1���  ���T�� I(x) 

 k��� ��T	J ���NG
!� 8�~0,000001 ≤ x ≤ 0,999999  
  σloc:  X��¤� <�g�� A#��G� )^��5� S� ��&T�� �#�%& A,>7�5� : �U�V
��� (� �`��J ��Hi� 8�~� 

 ��\�G5��(60a)� (60b).  
 ��1�95� ��%	�� >7��5 8�~�pL Y� �U�V
� k, �%1� %99 . 8J f�� �1�9� <%D >7��5 Fl�N	�� ��� ��H1 +�%1 T1a� �, 

 8J%99.  
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11.4   !�4� �"5�()*�+ ,�- $�� � �-�.�� ���/
%p0���� 12  3* %pL 12������   

 3�%= 8�~ ��#�T�� ���G] �GE� �#T7 S� �%U��5� ��b� �TckW 1� ��/��0 '
1 2�� � �1�95� ��%	�% p67��� 8� :�  
 dB(µV/m) Ep >7��5� 8�� ��\�G5� _�T�
!��:  

      dB(µV/m)bp LfE –)log(2036.199 += (62) 

u�=:  
  Lbc:  #�%&� + 2�� ��!�!"� ��!#$� 0 '
1��/�� � �1�95� ��%	�%p 67��� 8� :� %pL>7��5� 8�  �

 ��\�G5�� ���%���(61) 

  f :  \\�
�� 3��45� (GHz). 
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����� ���1  
	
�
�� �1  


����� ����� ���
��� ��������� ����� ������ ��!���  

 f�E�� : \��1   '�7∆N�4!�
5� �1�	%�� ;�T=�� ����� '��g ®km/N.  

������ 1  

 ���∆N�����	
 ����
�
 �
���� ����� ���� �km/N  

  1812-01

����� ����)�	
���	
( 

 �
��

�� 
�

��
	

)



��

�

���
(
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 f�E�� : \���2�� �4!�
5� �1�	%�� '��+ �h��� x�
%� : �4! �1#�%�D � N0;�T=�� �® N .�fNG
%� �N�G5� N0 I�] 
 :
a�AB�!����
�� #�C
D+�  ��1�4�� 8� �������.  

 ������2 

����
 ���
� � ��� ����
!"
�
����  �N  

  
  

 

����� ����)�	
���	
( 1812-02

 �
��

�� 
�

��
	

)



��

�

���
(
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������ ��2  
 ��	
�
�1  

"#�
� $!��� �%&�� ��
'  

1  �����  

 B%N�� {D�|� �`m5� f��v <�4
1\��� ��] B%5� ��o L�J ���#"� �1#�Z
�� ;�J���#+ {D�� �`m�  I!�
� x�
%�
�h��� . ��T|� _T�1�7`m5� f��v 8� �`7��
c� <����� ;�N�G5�  B%N�� {D�|� �����"#�E
D+� Fl�� .   

2  ����	
�� 
���� �����   

 �4hN�� ��]��V|� ;��-�T=$� S� *�\�	
!���!�5� ψt) �(ϕt
 

 �4�������
%5� ψr) �(ϕr �eV�	1 �1#�Z
�� ;�J���#� [
E� k, 
 ���#"�)�h��� x�
%� I!�
� ��] ( �TJ�7 8� LNmG�� ��@�T�� B%� ��o L�J;�D�����]������o  I@��& 8� �,  �B�g ��]��g

��!�	�.� � �D��
!� TU%0 k, eV�	1 ����NG�� ��=�	�� 8� k���$� #T�¯�G5� {D�|� �`mN�� �]�%5����#"� �1#�Z
�� ���n�  .
� *�\�J k��� 8� �]�%5� : �\�1a��m 30 S� km 1��!�	�  .� ��o, ;�\�1/ ��NG
!� *���NJ �H1 �Ng f�, 8� �]�%N�

��o"� ;�B%5� . k, {D�|� �`mN�� eV�	1�L�J A�
� �4�� eG7�� T	J �#"� ����#� ��!�5� �4��� ����
%5�  �}#��
J��
 24�D�1�`	��� �1�T��� .����
�� ;+\�G5� �&W��  
�	¤��#"��#��Z�� []� k��%i� :  �N�7 S� *�\�	
!� ae ��\�G5� : (7a).  

 {D�� �`m� ���D >� ��1�4�� ��� ��NG
!� 8�N5� 8N] �TJ��
�� �Nm
	� {D�� �`m� ���D ��NG
!� fZ�5� 8� �D, '�#�
TJ��
�� �Nm
	� B� . ;�J���#+ <�!�	� ;�l ��N7# �41�& 8� {D�|� �`m5� ¢��
%1 ��T	J *�T��� ��l k��1 T7�
���#"� �1#�Z
�� . S� �#�c$� #T0 �D, +� �Nm
	� {D�� �`m� ���D fNG
%� ;�#��
&� S� *�\�	
!� ;TJ, T7 ����
�� k,

�7T�� L�J TJ��
�� �Nm
	� B� ���	�� B-W� 8J ;����G� A, �]�
� +� TJ��
��.  
� B%N�� {D�|� �`m5� �4�D �����
�� ��� ����" �d
G�: �4t ��!#$� �4�	�� 1 �4�	�� d
G� �N	�� �: � �4�����
%5� 
�� �4�	n . 8� B%N�� {D�|� �`m5� f�E
1 ����n  �4�D . f�E�� e4G1�3  B%N�� {D�|� �`mN�� *+�C�dJ ;�J���#� 

 ���#"� �1#�Z
��� ���G
5� ���
�5� ;�N�G5� *�	��� �h��� x�
%� I!�
� ��] ���#"� �1#�Z
�����G���.  
  
  
  



 �������ITU-R P.1812 

26

����� �3  

	 #"�$
 �%&'(� )�*� +
)-./
 01(  

  
\T�� ��T|� 7B%N�� {D�|� �`m5� f��v 
�	-, ��
E5� �, ��NG
%5� ;�N�G5� .  

  

 

����i��  
���	
� �
	�����  

 ���������
�� ������(R) 

 ������� ����� ���(T) 
����� ���������� 

  �� ����1 � ���� ���� θt�	
�� ���� �
���
 �� ��� .  1812-03 
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��� �	
7 

�������� 	
��� 
���� ������ ���  

������ ��	
� 

ae 
� ��� !"� #�$%�� &	(km) 

d  '()$�� ��*���� +�� �,���(km) 

dii  - ��.	���� �/�
0���,��1�  2)�31� +�(�� 4��5� �6)1� 7���$� - ��($��1�(km)) �
9���� 7��:���� ;<( 

f  //����(GHz) 

λ  �.>1� #>?(m) 

hts  @*�>A B�%C	��D�1� (m) ����� E>��� FD>�� G>, (amsl) 

hrs  @*�>A B�%C	������1� (m) (amsl) 

θt  +�(�� ���3��� HI,
� J:
� B�%C	� �
9�K @�L� I,
� F� G>, I,(mrad) �D��� �� M� @*�>�D�1� . ���3���9

�����1� @*�>M� B�%C	� �
9�K �
9�0�� OPA Q>RC Q< @S�3
 H�"��� F� +�1. 

θr  HI,
� J: +�(�� ���3���
� B�%C	� �
9�K @�L� I,
� F� G>, I,(mrad) �D��� �� M�@*�> �����1� . ���3���9

�D�1� @*�>M� B�%C	� �
9�K �
9�0�� OPA Q>RC Q< @S�3
 H�"��� F� +�1. 

θ  +�(�� �
9�0�� �,��1�(mrad) 

hst  B�%C	�" &	
���6(1� " ��L� U�>� �3: ����� E>��� FD>�� G>, ��D�1�(m) 

hsr  B�%C	�" &	
���6(1� "  ����� E>��� FD>�� G>,�3: ��L� U�>� ������1� (m) 

hi  ��C��� �� ���3�� B�%C	�i ���	
� �
	����� -  ����� E>��� FD>�� G>,(m)  

h1 :� WB�%C	@�	
�  �D�(��  

h
n

 :� WB�%C	@�	
�  �����(�� 

hm 
� �
	����� �	>:9 ���	(m) 

hte  @*�>6�� #�$%�� B�%C	W��D�1� (m) 

hre 6�� #�$%�� B�%C	W� @*�>�����1� (m) 
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3  ���� ���  

 ������ ��	
��� �
������ ��
������ �� ������ ������� ����� !������" #$�� !%& ��' !%()� �*+)φt� ψt( 
 ��./�$��0)φr� ψr( .#$��� 23��� �4��� �� #$�� !%& �5�6 7�8 �� 9:�" �*+0 . ;#$�� !%& ��' !%()� �*+ 8<

(km) d#$��� 23��� �4��� ��3�
" �� ;:  
            kmndd =  (63) 

 >< �.$���"09�?5@ �
����� �AB��� C(D ;�'�.��� E���� #$� 23��� �4��� ��3�
":  
  km          ( ) iii did ⋅−= 1  (64)  

>< �.$���" 1 = i;...; n ; F
�dii G� HI���� �J�5K�� L �
 #$�� ���$�(km).  

4  ������ 	
��
  


� #$�� M
�(�� #$��� 23��� �4��� N���$5 O@ PQO�R %� �� S�T� U' 0@ �(.�� VW L >< 9�J����� XIT� �	A M(3 
 !��Y��ae ��J����" Z
�' !%()� �*+ [\�� ;(7a).  

O%*50 S�T� ]�YDI� �50�^ _3�R �8< S�T� U' #$��  [J����
��3 �� G��%`� N����) G�a� S�T� VW >< �.$���" ( �� UR@
 �� �
���� �50�K�� �4H G��%`�N./�$��)  G�a� S�T� VW >< �.$���" 9�?5@N���.(  

b���� %
��� ��' S�T� U' #$�� c0�d" e�f� I�.�W:� O%*50:  
                     mradtdθ>θmax (65) 

F
�:  

  mrad                )(max
1

1
i

–n

i
max

θ=θ
=

 (66)  

  θi:   �	/��� >< �.$���" ]�YDI:� �50�^i�
gIT� h5I�?��� L   

 mrad
2

10
3

e

i

i

tsi
i

a

d

d

hh
−

−
=θ (67)  

F
�:  
  hi:   �	/��� ]�YDI�i �
gIT� h5I�?��� L (m) �
.�� i%�$� V�%�� j%� 

 hts:   G��%`� ]�YDI�N���� (m) �
.�� i%�$� V�%�� j%� 

 di:   �" ���$��N���� �	/���0 i �
gIT� h5I�?��� L (km) 

 mrad
2

10
3

e

tsrs
td

a

d

d

hh
−

−
=θ (68)  

F
�:  
  hrs:   G��%`� ]�YDI�N./�$�� (m) �
.�� i%�$� V�%�� j%� 

 d:   ������ ������� #$� �
�*�� ���$��(km) 

 ae:  �� !��Y�� XIT� �	A M(3 V�%�� #$��� P���) ��J����((7a).  
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5  ��� ����� ����� �� ������� ������  

1.5  ��	
 ���
���������   

 !0��� X��57#$��� 23��� �4��� �� �4A�/�k� PH�%�� ������� .  

1.1.5   ����� ���� 	
��
� ������
�
�� �θt  

 G��%` S�T� ]�YDI� �50�^G� !��I�� �50�^ �(A@ : ��J���� S.	D ����' G��%`� S�@ ]�YDI(66) �4��� ��'�YDI� ��' 
 �
gIT� h5I�?��� 23���n − 2.  

               mrad),(max
max tdt θθ=θ (69) 

O%*D0 θmax ��J���� L �J�l G� ��R (66).  

2.1.5   ������ ��� ��
������� �dlt  

 S�T� ���$� G����� �� ���$� mJ@ N����' n%$a� �50�^ �(A@ : G��%`� S�@ ]�YDI� �� ��J���(66).  
(70)  )(maxforkm iilt dd θ=   

 og%D ;S�T� Md*p5 q O<0
50milt dd =)  ��/Y�� ��3�1.3.4.(  

3.1.5   ������ ��� 	
��
� ������������ �θr
  

 S�T� Md*p5 q O<(θt = θtd)og%D ;:  

  mrad   
e

rsts

r
a

d

d

hh

2
10

3−−=θ  (71)  

 Or� ;N���� S�@ MdsR O< �*�!�./��:� G��%� S�@ ]�YDI� �50�^G�  �50�^ �(A@ : ��J���� S.	D ����' G��%`� S�@ ]�YDI
(66) �
gIT� h5I�?��� 23��� �4��� ��'�YDI� ��' n − 2.  

  mrad               )(
1

2

max j

–n

j
r θ=θ

=
  (72) 

(72a)  
e

j

j

rsj
j

a

dd

dd

hh

2

)–(10

–

– 3

−=θ                 mrad  

4.1.5   ������ ��� ��
��������� �dlr  

 S�T� ���$� G� N./�$�� �� ���$� mJ@P$6  ����' �50�^ �(A@: G��%`� S�@ ]�YDI�� � ��J���(64).  

(73)  )(maxforkm– jjlr ddd θ=   

 og%D ;S�T� Md*p5 q O<0
50milr ddd −=)  ��/Y�� ��3�1.3.4.(  

5.1.5   �����!"� ��
���(mrad) θ  

(74)  
rt

e
a

d θ+θ+=θ
3

10
                mrad  
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6.1.5   #$�%" '
��()*+��"�"
,�"� ������ -
.
��
��   

1.6.1.5  ��
. -�

��.�  

� ����Y�� G��%`� ��'�YDI� �5�
� E

/D t��H� �u�Y�� ���D<0 �I%'%� P���� ;#$�� �� �" : !��� C	� v�w�$5 O@
" XI@��4y" X��Y�� G�H��� i%�$�� Z3@ ��' O%*D O@#$�� �� ������� #z XIT� ZA%�  . �*+0 ��' !%()� J�{|

 C	$�� �\� �
gIT� h5I�?��� �I%'0 ����� E
A ��' !%()�) ��3���/Y�� (4.6.1.5 !��Y�� G��%`� ]�YDI�0  �� N*�
�a	�� ��./�$��0 ������.  

2.6.1.5  -�/
01��2�  

 �' G�w��� ;�H�
�� 9�/�0 ;�*+j�/�k� C	� " XIT���4���" ��#$�� L "�5�
.��" �}�(�� [@ ;O%*D ����' :
ω ≥ 0,9 ;0�
.�� C	� ��' �
��%`� �/�@ o/5 ���
� .~I�.�'�" ���)� ~\� L G�H��� [%�$�� \W�5 O@ �*+0V�%��  

 �
.�� i%�$�)t��� 0@ ( ��' N��R ;#$�� !%&I�.�'� �*+0�
gIT� h5I�?��� �I%'0  m 0'�YDI�0 � ����Y�� ��
��%`� �
�
.�� C	� j%� �
/
/)� ��'�YDIB� �50�$�.  

0[I0�?�� �� XIT� P5�/D t��H< i�WT� ��#$�� NR ��' S.	5 O@ ��4��� ��/Y�� L N(Y�� 1.5v�w�$D O@0 ; E
A 
 %
��� ��' �
gIT� h5I�?��� �I%'00 ����Y�� ��
��%`� ��'�YDI�JI�%�� ��/Y�� L 4.6.1.5.  

3.6.1.5   '
�� 34� 5
��6�()*+��  

 G	W P5�/D S�d5 E
/�$� �
gIT� h5I�?��� ]�YDI:�
.�� i%�$� V�%�� j%�b���� N*d�� ��' :  

(75)  
istsi

dmhh ⋅+=                 m  

F
�:  
  hsi:   ]�YDI:��
.�� i%�$� V�%�� j%� (m) C	$��  i��(�� ���"���" S"�	�� ���$� ��'(km) di 

NW����� I�(� �� 

 hst:   ]�YDI:��
.�� i%�$� V�%�� j%� (m) XIT� C	$� ��4��� ��' �5��" �	a� ��' [@ #$�� 
������  

  m:   C	$�� N
�(m/km) (�� ���"���" S"�	��i���
.�� i%�$� >< �.$���" .  

 ���J���� !������ �*+ F
� n�$)� �� ��
����� �D%	f�" S���5 ��
� ��5�" S���& ����0(76a)0 (77a) �'�.D O�R �8< 
9������ 23��� �4��� c�/3 . ���J���� !������ ���5 ��
�(76b)0 (77b)4��� c�/3 �*D q �8< ;9��
/�D ��R@ ��0 ; 23��� �

����)� �� [@ L ��`������ �*+0 ;�'�.��� ������.  

�'�.��� ������ 23��� �4��� c�/3 >< �.$���.�:  

(76a)  

∑

∑

=

=

⎟
⎠

⎞
⎜
⎝

⎛

⎟
⎠

⎞
⎜
⎝

⎛

=
n

i

i

n

i

iai

d
d

d
dhh

m

1

2

1

2
–

2
–)–(

                m/km  
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�W� 23�H �4�� [@ >< �.$���"0:  

(76b) ∑
=

−−−−− −−+−+−+−⎟⎟
⎠

⎞
⎜⎜
⎝

⎛=
n

i

iiiiaiiiiii hhddhhhddddd

d

m

2

1
2

11113
)()()2()()(3

1
 m/km 

F
�:  

  hi:  	/��� G/
/)� ]�YDI:� �i �
gIT� h5I�?��� L  (m)�
.�� i%�$� V�%�� j%� 

 ha:   �
/
/)� #$�� ��'�YDI� V�%���
.�� i%�$� V�%�� j%� �� h0 >< hn  9��(�(m) �*+0 
Z
�' !%()�:  

E����� �'�.��� ��8 23��� �4��� c�/3 >< �.$���":  

 ∑
=+

=
n

i

ia h
n

h

0

m
1

1
 (77a) 

�H �4�� [@ >< �.$���"�
�H�� �	�%�� ��
A P$6 ;�W� 23:  

         m∑
=

−+⎟
⎠

⎞
⎜
⎝

⎛=
n

i

iiiia hhdd
d

h

1

11– )()–(
2

1
 (77b) 

��' !%()� �*+0 XIT� C	� ]�YDI� ��4��� �	a� ��' ������ hst��J���� �� :  

                m
2

–
d

mhh
ast

= (78) 

� ��' ��4��� XIT� C	� ]�YDI� �
����� ��
(�� G	�D ;� ��0 �	a��./�$�� hsr:  

                   mdmhh
stsr

⋅+=  (79)  

 XIT� ��'�YDI� _�A0 �8< C

(D t��H< ;����' ;PQ0��4���[@ ;XIT� ��' G/
/)� ]�YDI:� j%� :  

                 m)1,(min hhh
stst

= (80a) 

                m),(min
nsrsr
hhh = (80b) 

 �'�YDI:� ��@ C

(D � �8<0hst 0@ hsr ���J���� �	��%" ��4
�R 0@ (80a) 0@ (80b) N
� 9�?5@ C
(5 O@ ����' P{
� ;
 XIT� C	���4��� mb����R :  

                  m/km
d

hh
m

stsr
–= (81) 

 ;����	��� ����Y�� �'�YDI:� ��' !%()� E�50hte0 hre���" ���J�:  

(82)  

m

m1

srnrgre

sttgte

hhhh

hhhh

−+=
−+=

   



 �������ITU-R P.1812 

32

4.6.1.5   ������� �	�
��
� �����hm  

 �
gIT� h5I�?��� �I%'0 �����hm (m)  G� XIT� C	� j%� �
gIT� h5I�?��� ]�YDI� �(A@��4��� #$�� E$A L 
 �" oA�%�� ;S�T� �	/39��(�:  

                 m[ ])(–max
isti

i

ii
m

dmhhh
lr

lt

⋅+=
=

 (83)  

F
�:  
  ilt:   ���$� ��' 23��� �4��� �	/3 N
�JdltN���� ��   
 ilr:   ���$� ��' 23��� �4��� �	/3 N
�JdlrN./�$�� �� .  

 N*d�� N�+04 XIT� C	� ��4���  �
gIT� h5I�?��� �I%'0 �����0hm.  

����� �4  

 ���� ���
 �
�������������� �	�
��
� ����� ������   
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������� �3  
	
�
�� �1  

� 
������������ ������ ������� �����
������ ������   

P5�/��� O%*5G�R����� [J���� o5^%��� ����� b���� G�
�*���  ��
/�� 9�


u G$*��� 0,000001 ≤ x ≤ 0,999999  O%*50 
 �	w�� I��/� �(A@0,00054. _3�R Or� x < 0,000001 ; 9���g ��5 �yβ0 < 0,0001% V.g G�.�
� ;x ��
/" 

0,000001 . >< �.$���" ���d� ��I�.�'� [�$D0x > 0,999999 . �*+0j%�%�����w��� L  �P5�/��� �\ ���J n�$) 
:J���� L G�W���� !��*��:�� (30b)0 (49)0 (61) . ��
A �(
�D O@ PQ ;�#WT� ��J���� L Z3@ �
"xNW�J ��5�.���  :

0,01 ≤ x ≤ 0,99.  

��' !%()� E�50 ������ I(x)b����R : 

(84a)  )(–)()( xxTxI ξ=                       for 0,000001 ≤ x ≤ 0,5  

�������"0:  

(84b)  )1()1()( xTxxI −−−ξ=              for 0,5 < x ≤ 0,999999 

F
�:  

  ][ )(ln2–)( xxT = (85a)  

  

[ ]
[ ] 1)()())((

)())((
)(

123

012

+++⋅

+⋅+⋅
=ξ

xTDxTDxTD

CxTCxTC
x (85b) 

(85c)  515516698,2
0

=C   

(85d)  802853,0
1

=C   

(85e)  010328,0
2

=C   

(85f)  432788,1
1

=D   

(85g)  189269,0
2

=D   

(85h)  001308,0
3

=D   
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